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SSC Scientific Assistant (IMD 23-Nov-2017 (Electronics) 

QID : 1001 - Select the related word from the given alternatives. 

Food : Cook :: Furniture : ? 

 Options: 

1) Wood

2) Carpenter

3) Chair

4) Mason

Correct Answer: Carpenter 

QID : 1002 - Select the related letters from the given alternatives. 

CFI : LOR :: KNQ : ? 

Options: 

1) PON

2) TWZ

3) OMK

4) PNL

Correct Answer: TWZ 

QID : 1003 - Select the related number from the given alternatives. 

1/16 : -1/32 :: -4 : ? 

Options: 

1) 2

2) 4

3) 6

4) 8

Correct Answer: 2 

QID : 1004 - Select the odd word from the given alternatives. 

Options: 

1) Eye

2) Nose

3) Brain

4) Ear

Correct Answer: Brain 
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QID : 1005 - Select the odd letters from the given alternatives. 

Options: 

1) TSR

2) CDE

3) MNO

4) HIJ

Correct Answer: TSR 

QID : 1006 - Select the odd number from the given alternatives. 

Options: 

1) 217

2) 259

3) 287

4) 261

Correct Answer: 261 

QID : 1007 - A series is given, with one word missing. Choose the correct alternative from the given 

ones that will complete the series. 

Escape, Penalty, Typecast, State, Temperature, ? 

Options: 

1) Unfurls

2) Haggler

3) Response

4) Matings

Correct Answer: Response 

QID : 1008 - A series is given, with one term missing. Choose the correct alternative from the given 

ones that will complete the series. 

ABABABAB, BABABAB, ABABAB, BABAB, ABAB, ? 

Options: 

1) ABA

2) BABA

3) ABAB

4) BAB

Correct Answer: BAB 
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QID : 1009 - A series is given, with one number missing. Choose the correct alternative from the 

given ones that will complete the series. 

-1.75, ? , -0.25, 0.5, 1.25 

Options: 

1) -1

2) 1

3) -1.5

4) -1.25

Correct Answer: -1 

QID : 1010 - Pihu's birthday is on Thursday 4th May. On what day of the week will be Navya's 

Birthday in the same year, if Navya was born on 21st October? 

Options: 

1) Sunday

2) Saturday

3) Wednesday

4) Monday

Correct Answer: Saturday 

QID : 1011 - The weights of 4 boxes are 80, 90, 50 and 60 Kg. Which of the following cannot be the 

total weight, in kilograms, of any combination of these boxes and in a combination a box can be 

used only once? 

Options: 

1) 280

2) 240

3) 220

4) 200

Correct Answer: 240 

QID : 1012 - From the given words, select the word which cannot be formed using the letters of the 

given word. 

BORINGLY 

Options: 

1) ORGAN

2) ROBIN
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3) GIRLY

4) BRING

Correct Answer: ORGAN 

QID : 1013 - If UTOPIAN is coded as SRMNGYL, then how will VEG be coded as? 

Options: 

1) QXK

2) TCE

3) WAO

4) LDZ

Correct Answer: TCE 

QID : 1014 - In a certain code language, '+' represents '×', '-' represents '+', '×' represents '÷' and '÷' 

represents '-'. What is the answer to the following question? 

8 × 16 ÷ 4 + 2 - 10/4 = ? 

Options: 

1) -5

2) 33

3) 22

4) -13

Correct Answer: -5 

QID : 1015 - If 73 % 12 = 13, 5 % 14 = 10, 18 % 20 = 11 then what is the value of 25 % 6 = ? 

Options: 

1) 13

2) 61

3) 34

4) 81

Correct Answer: 13 



5 | P a g e

QID : 1016 - 

Options: 

1) 11

2) 27

3) 13

4) 17

Correct Answer: 17 

QID : 1017 - X and Y start from the same point. X walks 75 m West, then turns to his right and walks 

130 m. At the same time, Y walks 60 m North, then turns East and walks 110 m, then turns to his left 

and walks 70 m. Where is Y now with respect to the position of X? 

Options: 

1) 185 m West

2) 35 m East

3) 185 m East

4) 35 m West

Correct Answer: 185 m East 
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QID : 1018 - In the question two statements are given, followed by two conclusions, I and II. You 

have to consider the statements to be true even if it seems to be at variance from commonly known 

facts. You have to decide which of the given conclusions, if any, follows from the given statements. 

Statement 

All chairs are sofas. 

Some chairs are lounges. 

Conclusion 

Some lounges are sofas. 

All sofas are lounges. 

Options: 

1) Only conclusion I follows

2) Only conclusion II follows

3) Both I and II follow

4) Neither I nor II follows

Correct Answer: Only conclusion I follows 

QID : 1019 - 

Options: 

1)
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2) 

3) 

4) 

Correct Answer: 
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QID : 1020 - 

Options: 

1) B,A,G

2) F,E,B

3) D,H,F

4) A,B,E

Correct Answer: A,B,E 
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QID : 1021 - 

Options: 

1) 

2) 

3) 

4)
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Correct Answer:  

QID : 1022 -  

 

Options: 

1)  

 

2)  

 

3)  
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4) 

Correct Answer: 

QID : 1023 -  

Options: 

1) 

2)
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3)  

 

4)  

 

Correct Answer:  

QID : 1024 -  

  

Options: 

1)  
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2)  

 

3)  

 

4)  

 

Correct Answer:  
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QID : 1025 -  

 

Options: 

1) 34,12,59,69 

2) 65,85,42,77 

3) 21,14,99,97 
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4) 13,04,59,85 

Correct Answer: 65,85,42,77 

QID : 1026 - Convert binary 1010101 to decimal. 

Options: 

1) 85 

2) 87 

3) 89 

4) 91 

Correct Answer: 85 

QID : 1027 - A can do 75% of a job in 24 days and B can do half of the job in 4 days. If they work on 

it together in how many days can they the job? 

Options: 

1) 12. 8 

2) 9.6 

3) 6.4 

4) 10. 2 

Correct Answer: 6.4 

QID : 1028 - The diagonal of a square is 22 cm. What is the length (in cm) of its side? 

Options: 

1) 22√2 

2) 11/√2 

3) 33√2 

4) 11√2 

Correct Answer: 11√2 

QID : 1029 - If on a Sale there is 35% discount on the marked price of Rs 2400, but the sale is done 

at Rs 1248 only then what additional discount (in %) did the customer get? 

Options: 

1) 20 

2) 15 

3) 25 

4) 30 

Correct Answer: 20 

QID : 1030 - What is the third proportional to 9 and 75? 

Options: 

1) 675 

2) 625 
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3) 725 

4) 775 

Correct Answer: 625 

 

QID : 1031 - In a class of 52 students there are 22 boys. The average weight of these boys is 57 Kg 

and average weight of the full class is 42 kgs. What is the average weight (in kgs) of the girls of the 

class? 

Options: 

1) 33 

2) 31 

3) 35 

4) 37 

Correct Answer: 31 

QID : 1032 - If a scooter is sold for Rs 23,750, the seller will face 5% loss. At what price (in Rs) 

should he sell to gain 10% profit? 

Options: 

1) 26750 

2) 27500 

3) 24750 

4) 22750 

Correct Answer: 27500 

QID : 1033 - Priya got 26 marks more in Arts than what she got in Crafts. Her Arts marks are 60% of 

the sum of her Arts and Crafts marks. What are her Crafts marks? 

Options: 

1) 78 

2) 65 

3) 91 

4) 52 

Correct Answer: 52 

QID : 1034 - To travel 600 km, a Express train takes 3 hours more than Duronto. If however, the 

speed of the Express train is doubled, it takes 4.5 hours less than Duronto. What is the speed (in 

km/hr) of Duronto ? 

Options: 

1) 50 

2) 40 

3) 80 
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4) 60 

Correct Answer: 50 

QID : 1035 - What is the difference (in Rs) between the compound interests on Rs. 8000 for 1 year 

at 12% per annum compounded yearly and half-yearly? 

Options: 

1) 24.4 

2) 18.8 

3) 28.8 

4) 14.4 

Correct Answer: 28.8 

QID : 1036 - If 9x/2 - (1/3)(5x/2 + 7) = -1/3, then what is the value of x? 

Options: 

1) 6/11 

2) -6/11 

3) 11/6 

4) -11/6 

Correct Answer: 6/11 

QID : 1037 - If a3 - b3 = 35 and ab = -6, then what is the value of a - b? 

Options: 

1) 5 

2) 2 

3) 4 

4) 3 

Correct Answer: 5 

QID : 1038 - A number is greater than 6 times its reciprocal by 5/2. What is the number? 

Options: 

1) 6 

2) 4 

3) 5 

4) 8 

Correct Answer: 4 

QID : 1039 - What is the sum of the first 14 terms of an arithmetic progression if the 5th term is 1 

and the 7th term is 11? 

Options: 

1) 93 

2) 73 
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3) 187 

4) 189 

Correct Answer: 189 

QID : 1040 - What is the reflection of the point (-1, 3) in the line y = 2? 

Options: 

1) (5, 3) 

2) (1, 1) 

3) (-1, 1) 

4) (5, -3) 

Correct Answer: (-1, 1) 

QID : 1041 - Point A (8 , 2) divides segment BC in the ratio 2:3. Co-ordinates of B are (-1 , 6) and C 

are (x , y). What is the value of y? 

Options: 

1) -4 

2) 8 

3) -8 

4) 4 

Correct Answer: -4 

QID : 1042 - At what point does the line 6x - 5y = -12 cuts the x-axis? 

Options: 

1) (2 , 0) 

2) (0 , 2) 

3) (-2 , 0) 

4) (0 , -2) 

Correct Answer: (-2 , 0) 

QID : 1043 - ?ABC is right angled at B. BD is an altitude. If AD = 50 cm and DC = 8 cm, what is the 

value of BD (in cm)? 

Options: 

1) 25 

2) 16 

3) 20 

4) 42 

Correct Answer: 20 

QID : 1044 - What is the value of Cot 30o - √2 Cosec 45o =? 

Options: 

1) √3 - 2 
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2) (2√2 - 1)/√6 

3) (√3 - 2)/2 

4) (√3 - 2)/√3 

Correct Answer: √3 - 2 

QID : 1045 - ? XYZ is right angled at Y. If m∠Z = 60o, then 

Sec X.Tan Z =? 

Options: 

1) 2 

2) 2/3 

3) 2/√3 

4) √3/2 

Correct Answer: 2 

  

QID : 1046 - If Tan θ = 5/12, then Cosec θ = ? 

Options: 

1) 5/13 

2) 12/5 

3) 13/5 

4) 13/12 

Correct Answer: 13/5 
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QID : 1047 -  

 

Which type of vehicles were sold more than trucks but less than SUVs? 

Options: 

1) Buses 

2) Motorcycles 

3) Cars 

4) Scooters 

Correct Answer: Cars 
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QID : 1048 -  

 

Ratio of number of motorcycles sold to total of cars and SUVs sold is? 

Options: 

1) 1 : 1 

2) 3 : 7 

3) 7 : 4 

4) 3 : 4 

Correct Answer: 1 : 1 
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QID : 1049 -  

 

If 27% of the trucks sold are trailers then how many trailers were sold in the year in the given 

territory? 

Options: 

1) 2000 

2) 3645 

3) 2700 

4) 2465 

Correct Answer: 2700 
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QID : 1050 -  

 

If 50% of scooters were sold at Rs 50,000/unit and rest were sold at Rs 60,000/unit then the total 

sales of scooters in the year in the given territory was? 

Options: 

1) Rs 27.5 lakhs 

2) Rs 225 crores 

3) Rs 275 crores 

4) Rs 20 lakhs 

Correct Answer: Rs 275 crores 

QID : 1051 - In the following question, some part of the sentence may have errors. Find out which 

part of the sentence has an error and select the appropriate option. If a sentence is free from error, 

select 'No Error'. 

What brings them to the (1)/ institute is their dream to (2)/ make the world a better place. (3)/ No 

Error (4) 

Options: 

1) 1 

2) 2 

3) 3 
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4) 4 

Correct Answer: 4 

QID : 1052 - In the following question, some part of the sentence may have errors. Find out which 

part of the sentence has an error and select the appropriate option. If a sentence is free from error, 

select 'No Error'. 

Ravi fed it (1)/ with green (2)/ chilli but guava. (3)/ No Error (4) 

Options: 

1) 1 

2) 2 

3) 3 

4) 4 

Correct Answer: 3 

QID : 1053 - In the following question, a sentence is given with a blank to be filled in with an 

appropriate word. Select the correct alternative out of the four and indicate it by selecting the 

appropriate option. 

It is famous for its __________ design. 

Options: 

1) peculiar 

2) peculiarity 

3) peculiarly 

4) peculiars 

Correct Answer: peculiar 

 

QID : 1054 - In the following question, a sentence is given with a blank to be filled in with an 

appropriate word. Select the correct alternative out of the four and indicate it by selecting the 

appropriate option. 

The sculpture also has ___________ wings jutting out from the forearms. 

Options: 

1) enormous 

2) enormously 

3) enormousness 

4) enormity 

Correct Answer: enormous 
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QID : 1055 - In the following question, out of the four alternatives, select the word similar in meaning 

to the word given. 

Extrinsic 

Options: 

1) Integral 

2) Innate 

3) Connate 

4) Acquired 

Correct Answer: Acquired 

QID : 1056 - In the following question, out of the four alternatives, select the word similar in meaning 

to the word given. 

Corroboration 

Options: 

1) Rebuttal 

2) Retraction 

3) Veto 

4) Affirmation 

Correct Answer: Affirmation 

 

QID : 1057 - In the following question, out of the four alternatives, select the word opposite in 

meaning to the word given. 

Gumption 

Options: 

1) Inanity 

2) Acumen 

3) Savvy 

4) Astuteness 

Correct Answer: Inanity 

QID : 1058 - In the following question, out of the four alternatives, select the word opposite in 

meaning to the word given. 

Ridicule 

Options: 

1) Caricature 

2) Contempt 

3) Flattery 
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4) Jeer 

Correct Answer: Flattery 

QID : 1059 - In the following question, out of the four alternatives, select the alternative which best 

expresses the meaning of the idiom/phrase. 

Shoot the breeze 

Options: 

1) Brag about oneself 

2) Talk idly, chat 

3) Speak obvious lies 

4) Burp after having a good meal 

Correct Answer: Talk idly, chat 

QID : 1060 - In the following question, out of the four alternatives, select the alternative which best 

expresses the meaning of the idiom/phrase. 

Under my thumb 

Options: 

1) A very easy task 

2) To hide something 

3) To pressurise someone to partner with you for a crime 

4) Under my control 

Correct Answer: Under my control 

QID : 1061 - In the following question, out of the four alternatives, select the alternative which will 

improve the bracketed part of the sentence. In case no improvement is needed, select "no 

improvement". 

Students (are making) to work in the garden. 

Options: 

1) is made 

2) was made 

3) are made 

4) No improvement 

Correct Answer: are made 

QID : 1062 - In the following question, out of the four alternatives, select the alternative which will 

improve the bracketed part of the sentence. In case no improvement is needed, select "no 

improvement". 

After examining the parrot, the vet cleaned the wound, stitched and (will bandage) it. 

Options: 

1) bandage 



WWW.ALLEXAMREVIEW.COM                                        WWW.ALLEXAMREVIEW.IN 

27 | P a g e  
 

2) bandaged 

3) bandaging 

4) No improvement 

Correct Answer: bandaged 

QID : 1063 - In the following question, out of the four alternatives, select the alternative which is the 

best substitute of the words / sentence. 

A mental condition characterized by delusions 

Options: 

1) Prudent 

2) Lucid 

3) Paranoia 

4) Rational 

Correct Answer: Paranoia 

QID : 1064 - In the following question, out of the four alternatives, select the alternative which is the 

best substitute of the words / sentence. 

Impossible or hard to read or decipher 

Options: 

1) Lucidity 

2) Illegibility 

3) Exactitute 

4) Palpability 

Correct Answer: Illegibility 

QID : 1065 - In the following question, four words are given out of which one word is correctly spelt. 

Select the correctly spelt word. 

Options: 

1) etiquete 

2) etequette 

3) etequete 

4) etiquette 

Correct Answer: etiquette 

QID : 1066 - In the following question, four words are given out of which one word is correctly spelt. 

Select the correctly spelt word. 

Options: 

1) unwearied 

2) unvearied 

3) unwearyied 
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4) unvearyied 

Correct Answer: unwearied 

QID : 1067 - The question below consists of a set of labelled sentences. Out of the four options 

given, select the most logical order of the sentences to form a coherent paragraph. 

One may believe 

X-that the mind consists of 

Y-can cause motions in matter 

Z-ideas, and may still hold that ideas 

Options: 

1) XYZ 

2) ZYX 

3) XZY 

4) ZXY 

Correct Answer: XZY 

  

QID : 1068 - The question below consists of a set of labelled sentences. Out of the four options 

given, select the most logical order of the sentences to form a coherent paragraph. 

This was the greatest 

X-increase in the timing of 

Y-seen on record in the Arctic 

Z-emergence of spring the researchers had 

Options: 

1) XYZ 

2) ZYX 

3) ZXY 

4) XZY 

Correct Answer: XZY 

QID : 1069 - In the following question, a sentence has been given in Active / Passive voice. Out of 

the four alternatives suggested, select the one which best expresses the same sentence in Passive / 

Active voice. 

My boss is giving many assignments. 

Options: 

1) Many assignments are being given by my boss. 

2) Many assignments is being given by my boss. 

3) Giving of many assignment has been done by my boss. 
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4) Giving of many assignment was being done by my boss. 

Correct Answer: Many assignments are being given by my boss. 

QID : 1070 - In the following question, a sentence has been given in Direct / Indirect speech. Out of 

the four alternatives suggested, select the one which best expresses the same sentence in Indirect / 

Direct speech. 

Their mother said to the children, "Be careful!” 

Options: 

1) Their mother asked that the children to be careful. 

2) Their mother asks the children to be careful. 

3) Their mother asked the children to be careful. 

4) Their mother asks that the children to be careful. 

Correct Answer: Their mother asked the children to be careful. 

  

QID : 1071 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

With a fair possibility of liquid water being present on at least three planets, the focus is now 

____________ deciphering the climate and chemical composition of their atmosphere. As a first 

measure, scientists are keen _____________ if the planets are Earth-like, by ruling 

______________ the presence of hydrogen gas enveloping them. Mass estimates already suggest 

that the inner six planets ______________ have a rocky composition, while the one with a low 

density may have a volatile composition due to the _______________ of an ice layer or atmosphere. 

the focus is now ____________ deciphering the climate 

Options: 

1) to 

2) for 

3) from 

4) on 

Correct Answer: on 

QID : 1072 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

With a fair possibility of liquid water being present on at least three planets, the focus is now 

____________ deciphering the climate and chemical composition of their atmosphere. As a first 

measure, scientists are keen _____________ if the planets are Earth-like, by ruling 

______________ the presence of hydrogen gas enveloping them. Mass estimates already suggest 
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that the inner six planets ______________ have a rocky composition, while the one with a low 

density may have a volatile composition due to the _______________ of an ice layer or atmosphere. 

scientists are keen _____________ if the planets are Earth-like 

Options: 

1) to know 

2) know 

3) knowing 

4) on know 

Correct Answer: to know 

QID : 1073 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

With a fair possibility of liquid water being present on at least three planets, the focus is now 

____________ deciphering the climate and chemical composition of their atmosphere. As a first 

measure, scientists are keen _____________ if the planets are Earth-like, by ruling 

______________ the presence of hydrogen gas enveloping them. Mass estimates already suggest 

that the inner six planets ______________ have a rocky composition, while the one with a low 

density may have a volatile composition due to the _______________ of an ice layer or atmosphere. 

by ruling ______________ the presence of hydrogen gas 

Options: 

1) out 

2) in 

3) outside 

4) on 

Correct Answer: out 

QID : 1074 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

With a fair possibility of liquid water being present on at least three planets, the focus is now 

____________ deciphering the climate and chemical composition of their atmosphere. As a first 

measure, scientists are keen _____________ if the planets are Earth-like, by ruling 

______________ the presence of hydrogen gas enveloping them. Mass estimates already suggest 

that the inner six planets ______________ have a rocky composition, while the one with a low 

density may have a volatile composition due to the _______________ of an ice layer or atmosphere. 

the inner six planets ______________ have a rocky composition 

Options: 
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1) may be 

2) hence 

3) might 

4) so 

Correct Answer: might 

QID : 1075 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

With a fair possibility of liquid water being present on at least three planets, the focus is now 

____________ deciphering the climate and chemical composition of their atmosphere. As a first 

measure, scientists are keen _____________ if the planets are Earth-like, by ruling 

______________ the presence of hydrogen gas enveloping them. Mass estimates already suggest 

that the inner six planets ______________ have a rocky composition, while the one with a low 

density may have a volatile composition due to the _______________ of an ice layer or atmosphere. 

volatile composition due to the _______________ of an ice layer 

Options: 

1) present 

2) presently 

3) presenting 

4) presence 

Correct Answer: presence 

QID : 1076 - The Food Corporation of India (FCI) purchases wheat and rice from the farmers in 

states where there is surplus production. The farmers are paid a pre-announced price for their crops 

called as ______. 

Options: 

1) Minimum Retail Price 

2) Maximum Retail Price 

3) Minimum Support Price 

4) Maximum Support Price 

Correct Answer: Minimum Support Price 

 

QID : 1077 - Which two articles (Fundamental Rights) of Indian Constitution are not suspended even 

during National Emergency under Article 359? 

Options: 

1) Article 14 and 15 

2) Article 16 and 17 



WWW.ALLEXAMREVIEW.COM                                        WWW.ALLEXAMREVIEW.IN 

32 | P a g e  
 

3) Article 18 and 19 

4) Article 20 and 21 

Correct Answer: Article 20 and 21 

 

QID : 1078 - In India, all international treaties and agreements are made in the name of ______. 

Options: 

1) The Prime Minister of India 

2) The President of India 

3) The Chief Justice of India 

4) The Foreign Minister of India 

Correct Answer: The President of India 

 

QID : 1079 - Which of the following was a major incident to happen in India in year 1919? 

Options: 

1) Dandi March 

2) Jallianwala Bagh Massacre 

3) Non Cooperation Movement 

4) Swadeshi Movement 

Correct Answer: Jallianwala Bagh Massacre 

  

QID : 1080 - After which year, the struggle against British gradually became a mass movement? 

Options: 

1) 1910 

2) 1915 

3) 1919 

4) 1923 

Correct Answer: 1919 

QID : 1081 - Who founded 'Tattavabodhini Sabha'? 

Options: 

1) Rabindranath Tagore 

2) Debendranath Tagore 

3) Sarojini Naidu 

4) Mahatma Gandhi 

Correct Answer: Debendranath Tagore 

QID : 1082 - Which meridian or longitude is also termed as the Standard Meridian of India? 
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Options: 

1) 27°30’E 

2) 27°30’W 

3) 82°30’W 

4) 82°30’E 

Correct Answer: 82°30’E 

 

QID : 1083 - The northern plains of India are formed of ______ deposits. 

Options: 

1) Coral 

2) Alluvial 

3) Silt 

4) Volcanic 

Correct Answer: Alluvial 

QID : 1084 - Which is one of the distinct features of the peninsular plateau? 

Options: 

1) Black soil area 

2) Laterite soil area 

3) Red soil area 

4) Alluvial soil area 

Correct Answer: Black soil area 

QID : 1085 - Which river marks the easternmost boundary of the Himalayas? 

Options: 

1) Ganga 

2) Brahmaputra 

3) Kosi 

4) Gandak 

Correct Answer: Brahmaputra 

 

QID : 1086 - Which state of India is the largest producer of cotton? 

Options: 

1) Gujarat 

2) Rajasthan 

3) Madhya Pradesh 

4) Goa 

Correct Answer: Gujarat 
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QID : 1087 - Air moves from the high-pressure area over the southern Indian Ocean in a south-

easterly direction and turn right towards low pressure areas over the Indian subcontinent. These we 

know as the ______ winds. 

Options: 

1) Easterly 

2) Westerly 

3) South-West Monsoon 

4) Trade 

Correct Answer: South-West Monsoon 

 

QID : 1088 - The marked price of an article is 50% more than its cost price. If 20% discount is given, 

then what will be the profit percentage? 

Options: 

1) 10 

2) 30 

3) 20 

4) 40 

Correct Answer: 20 

QID : 1089 - Which of the following is/are contact force / forces? 

I. Friction force 

II. Magnetic force 

III. Gravitation force 

Options: 

1) Only I 

2) Only II 

3) Only III 

4) Both II and III 

Correct Answer: Only I 

 

QID : 1090 - Which multicellular Eukaryotes, have cell wall and they do not perform photosynthesis? 

Options: 

1) Fungi 

2) Plantae 

3) Animalia 
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4) Protista 

Correct Answer: Fungi 

QID : 1091 - Which among the following is an example of a saturated carbon compound? 

Options: 

1) Ethane 

2) Ethene 

3) Ethyne 

4) All options are correct 

Correct Answer: Ethane 

 

QID :1092 - Ministry of Power has launched which scheme with an aim at providing last mile 

electricity connectivity to all rural and urban households? 

Options: 

1) Shagun 

2) Sahaj 

3) Saubhagya 

4) Saral 

Correct Answer: Saubhagya 

QID : 1093 - Which is the 152 million year old fossil discovered for the first time in India (Kutch 

desert region of Gujrat)? 

Options: 

1) Ichthyosaur 

2) Rajasaur 

3) Masiakasaur 

4) Barapasaur 

Correct Answer: Ichthyosaur 

 

QID : 1094 - At which place is the Union Ministry of Youth Affairs and Sports going to establish 

National Sports Museum? 

Options: 

1) Barabati Stadium, Odisha 

2) M. Chinnaswamy Stadium, Tamil Nadu 

3) Nehru Stadium, Madhya Pradesh 

4) Jawaharlal Nehru Stadium, Delhi 

Correct Answer: Jawaharlal Nehru Stadium, Delhi 
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QID : 1095 - The Union Cabinet has approved MoU between India and ______ on cooperation on 

Police Training. 

Options: 

1) Afghanistan 

2) Sri Lanka 

3) Bangladesh 

4) Nepal 

Correct Answer: Afghanistan 

 

QID : 1096 - Gauri Lankesh is the first Indian Journalist to win which one of the following awards? 

Options: 

1) Pulitzer 

2) Anna Politkovskaya 

3) Livingston 

4) Golden Pear 

Correct Answer: Anna Politkovskaya 

 

QID : 1097 - The largest commodity bourse Multi-Commodity Exchange of India Ltd (MCX) launched 

India’s first commodity options in ______. 

Options: 

1) Gold 

2) Silver 

3) Diamonds 

4) Platinum 

Correct Answer: Gold 

 

QID : 1098 - Which country has officially opened its first overseas military base in the ‘Horn of 

Africa’, Djibouti? 

Options: 

1) China 

2) Kenya 

3) Nigeria 

4) Tunisia 

Correct Answer: China 

QID : 1099 - Where was The Global Wildlife Programme (GWP) Conference held recently? 
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Options: 

1) Ernakulum 

2) Pune 

3) Chandigarh 

4) New Delhi 

Correct Answer: New Delhi 

 

QID : 1100 - Rajnish Kumar has been appointed as new chairman of which organisation? 

Options: 

1) Securities and Exchange Board of India (SEBI) 

2) National Bank for Agriculture and Rural Development (NABARD) 

3) Reserve Bank of India (RBI) 

4) State Bank of India (SBI) 

Correct Answer: State Bank of India (SBI) 

QID : 1101 - Electrons flow in conductors because there ____ . 

Options: 

1) are free and mobile electrons 

2) are free and mobile positive ions 

3) are free and mobile protons 

4) are free and mobile negative ions 

Correct Answer: are free and mobile electrons 

 

QID : 1102 - Ceramics are easy to shape, hence they are used in making ____. 

Options: 

1) catalysts 

2) conductors 

3) electrolytes 

4) insulators 

Correct Answer: insulators 

  

QID : 1103 - A dielectric is introduced between the plates of a parallel plate capacitor. What happens 

to the capacitance of the capacitor? 

Options: 

1) Capacitance decreases 

2) Capacitance increases 

3) Capacitance is doubled 
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4) Capacitance is halved 

Correct Answer: Capacitance increases 

  

QID : 1104 - The inductor follows the _________. 

Options: 

1) De-Morgan's theorem. 

 2) Fleming's left hand rule. 

3) Fleming's right hand rule. 

4) Lenz law. 

Correct Answer: Lenz law. 

  

QID : 1105 - When two resistors of the same value are connected in a series with a third resistance 

of the same value as the other two, then what will be the net effective resistance? 

Options: 

1) Net resistance decreases 

2) Net resistance increases 

3) Net resistance is doubled 

4) Net resistance is tripled 

Correct Answer: Net resistance is tripled 

QID : 1106 - The varactor diode is used as a __________. 

Options: 

1) constant current source. 

2) constant voltage source. 

3) voltage controlled capacitor. 

4) voltage multiplier. 

Correct Answer: voltage controlled capacitor. 

  

QID : 1107 - What is the order of reverse current in a silicon diode? 

Options: 

1) kA 

2) A 

3) mA 

4) nA 

Correct Answer: nA 

  

QID : 1108 - What is the form factor of full-wave rectified sine wave? 
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Options: 

1) 0.636 

2) 0.707 

3) 1 

4) 1.11 

Correct Answer: 1.11 

QID : 1109 -  

 

Options: 

1) 1.3 

2) 2.3 

3) 3.3 

4) 4.3 

Correct Answer: 4.3 

QID : 1110 - Choose the correct statement for the breakdown voltage of Zener diode. 

Options: 

1) It damages the diode. 

2) It decreases with decrease in current. 
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3) It is approximately constant. 

4) It is double of the forward knee voltage. 

Correct Answer: It is approximately constant. 

  

QID : 1111 - What is the value of collector current of a bipolar junction transistor having a current 

gain(β) of 200 and base current of 50 µA? 

Options: 

1) 100 µA 

2) 1 mA 

3) 10 mA 

4) 100 mA 

Correct Answer: 10 mA 

QID : 1112 - The gate voltage of E-MOSFET is reduced to zero. Then the drain current is ________. 

Options: 

1) at saturation. 

2) equal to IDSS. 

3) zero 

4) narrowing the channel. 

Correct Answer: zero 

 

QID : 1113 - The flow of electron in a p-channel JFET is from __________ to __________. 

Options: 

1) drain, gate 

2) drain, source 

3) gate, drain 

4) source, gate 

Correct Answer: drain, source 

 

QID : 1114 - The transistor bias circuit arrangement providing a stable system using a negative 

feedback from the collector to the base is ________. 

Options: 

1) collector to base bias. 

2) emitter bias. 

3) fixed bias. 

4) fixed bias with emitter resistor. 
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Correct Answer: collector to base bias. 

  

QID : 1115 - What is the value of the coupling capacitor in RC coupling? 

Options: 

1) 100 nF 

2) 1 µF 

3) 10 µF 

4) 100 µF 

Correct Answer: 10 µF 

QID : 1116 - The oscillations produced by oscillators are ________. 

Options: 

1) under damped. 

2) critically damped. 

3) over damped. 

4) modulated. 

Correct Answer: critically damped. 

 

QID : 1117 - What is the output of the Schmitt trigger when fed with a sinusoidal voltage wave? 

Options: 

1) Asymmetrical square wave 

2) Rectangular wave 

3) Saw tooth wave 

4) Trapezoidal wave 

Correct Answer: Asymmetrical square wave 

  

QID : 1118 - What number of stable stages does an astable multivibrator has? 

Options: 

1) 0 

2) 1 

3) 2 

4) 3 

Correct Answer: 0 

QID : 1119 - What is the minimum number of transistors used in a Class B power amplifier to obtain 

the output for a full cycle of the signal? 
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Options: 

1) 0 

2) 1 

3) 2 

4) 3 

Correct Answer: 2 

QID : 1120 - What is the percentage voltage regulation of an unregulated power supply? 

Options: 

1) 0 % 

2) 0.05 % 

3) 0.1 % 

4) 0.15 % 

Correct Answer: 0.1 % 

QID : 1121 - Which among the following is a limitation of KCL? 

Options: 

1) It is not applicable for more than one voltage source. 

2) It is not applicable for circuits having more than two branches. 

3) It does not consider the dependent sources. 

4) It does not consider the leakage charge through nodes and conductor. 

Correct Answer: It does not consider the leakage charge through nodes and conductor. 

QID : 1122 - A 5A current source has a source resistance of 40 ohms. What will be the value of the 

equivalent voltage source? 

Options: 

1) 2 V 

2) 8 V 

3) 80 V 

4) 200 V 

Correct Answer: 200 V 

QID : 1123 -  
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Options: 

1) 73.4 

2) 83.4 

3) 93.4 

4) 103.4 

Correct Answer: 83.4 

QID : 1124 - What is the power transmitted to a load of 20 ohms by a voltage source of 20 V having 

an internal resistance of 60 ohms? 

Options: 

1) 0.50 W 

2) 0.75 W 

3) 1.00 W 

4) 1.25 W 

Correct Answer: 1.25 W 

QID : 1125 - If the load resistance and the equivalent circuit resistance is equal, then ___________. 

Options: 

1) maximum power is transmitted to the load 

2) the internal resistance of source is increased 

3) the internal resistance of source is decreased 

4) minimum current flows through the circuit 

Correct Answer: maximum power is transmitted to the load 

 

QID : 1126 - Voltage induces the current in a circuit,only if the circuit is________. 
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Options: 

1) closed. 

2) highly conductive. 

3) highly resistive. 

4) insulated. 

Correct Answer: closed. 

 

QID : 1127 - What is taken as a reference vector in the analysis of parallel RC circuits? 

Options: 

1) I 

2) R 

3) V 

4) XC 

Correct Answer: V 

QID : 1128 - The power measured in VAR is _______. 

Options: 

1) active power 

2) apparent power 

3) impedance power 

4) reactive power 

Correct Answer: reactive power 

  

QID : 1129 - What is the true power of a parallel RL circuit connected to an AC voltage source of 60 

V with a resistance of 20 ohms and an inductive reactance of 1600 ohms? 

Options: 

1) 160 W 

2) 180 W 

3) 200 W 

4) 220 W 

Correct Answer: 180 W 

QID : 1130 - What is the impedance (in ohms) of a series RLC circuit having R = 50 ohms, L = 0.32 

H and C = 10 µF operating at 50 Hz? 

Options: 

1) 100.53 

2) 217.78 



WWW.ALLEXAMREVIEW.COM                                        WWW.ALLEXAMREVIEW.IN 

45 | P a g e  
 

3) 223.45 

4) 318.31 

Correct Answer: 223.45 

QID : 1131 - What value of capacitance (in µF) must be connected in a series RL circuit, having L = 

0.32 H and R = 50 ohms, to obtain purely resistive circuit? 

Options: 

1) 0.0317 

2) 0.317 

3) 3.17 

4) 32 

Correct Answer: 0.317 

QID : 1132 - In a series RL circuit, the inductive reactance is XL = 50 ohms and inductance of 0.16 

H. What is the frequency of the supply? 

Options: 

1) 20 Hz 

2) 25 Hz 

3) 50 Hz 

4) 60 Hz 

Correct Answer: 50 Hz 

QID : 1133 - A series RLC circuit has a resistance of 2 k-ohms, inductance of 0.05 H and 

capacitance of 10 µF. What is the bandwidth (in kHz) of the circuit? 

Options: 

1) 5.86 

2) 6 

3) 6.36 

4) 7 

Correct Answer: 6.36 

QID : 1134 - A series RLC circuit has a resistance of 80 ohms, inductance of 1.25 H and 

capacitance of 5 µF. What is the quality factor of the circuit? 

Options: 

1) 5.25 

2) 5.5 

3) 5.75 

4) 6.25 

Correct Answer: 6.25 

QID : 1135 - What is the value of the neutral current in a 3-phase balanced star system? 
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Options: 

1) 0.333 of phase current 

2) 0.666 of phase current 

3) 0.707 of phase current 

4) Zero 

Correct Answer: Zero 

 

QID : 1136 - What is the value of line voltage (in kV) of a 3-phase star connected system having a 

phase voltage of 3.3 kV? 

Options: 

1) 1.1 

2) 2.1 

3) 3.3 

4) 5.7 

Correct Answer: 5.7 

  

QID : 1137 - What is the value of the per phase resistance (in ohms) in a star connection, if the 

equivalent delta connection has a per phase resistance of 90 ohms? 

Options: 

1) 30 

2) 45 

3) 60 

4) 75 

Correct Answer: 30 

QID : 1138 - What is the value of the line voltage (in kV) of a 3-phase delta connected system 

having a phase voltage of 3.3 kV? 

Options: 

1) 1.1 

2) 2.1 

3) 3.3 

4) 5.7 

Correct Answer: 3.3 

QID : 1139 - The condition of resonance arises when __________. 

Options: 

1) resistance is equal to inductive reactance. 

2) resistance is equal to capacitive reactance. 
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3) resistance is equal to impedance. 

4) capacitive reactance is equal to impedance. 

Correct Answer: resistance is equal to impedance. 

 

QID : 1140 - To increase the resonant frequency of a parallel RLC circuit, the capacitance must be 

__________. 

Options: 

1) decreased. 

2) increased. 

3) replaced with inductance. 

4) replaced with resistance. 

Correct Answer: decreased. 

  

QID : 1141 - What is the Boolean expression for a 4-input AND gate? 

Options: 

1) X = A + BCD 

2) X = AB + CD 

3) X = ABC + D 

4) X = ABCD 

Correct Answer: X = ABCD 

QID : 1142 - For all possible input combinations, the exact reverse output of OR gate can be 

obtained by _____ gate.  

Options: 

1) EX-NOR 

2) EX-OR 

3) NOR 

4) NOT 

Correct Answer: NOR 

QID : 1143 - What is the number of clock pulses required to completely load and then unload a 4-bit 

register ? 

Options: 

1) 4 

2) 7 

3) 16 
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4) 32 

Correct Answer: 7 

QID : 1144 - If the input resistor of 100 k-ohms of a binary weighted DAC is connected to a 3 V 

supply, then what will be the current flowing through the resistor? 

Options: 

1) 30 µA 

2) 300 µA 

3) 3 mA 

4) 30 mA 

Correct Answer: 30 µA 

QID : 1145 - What is the resolution of a 0-5 V 8-bit DAC? 

Options: 

1) 0.0019 

2) 0.0039 

3) 0.0078 

4) 0.0156 

Correct Answer: 0.0039 

QID : 1146 -  

 

Options: 

1)  

 

2)  

 

3)  
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4)  

 

Correct Answer:  

QID : 1147 -  

 

Options: 

1) X = ((A+B)C)D 

2) X = (A+B)(C+D) 

3) X = A+(B+(CD)) 

4) X = ((AB)+C)+D 

Correct Answer: X = ((AB)+C)+D 

QID : 1148 - The group of bits 01010 is serially shifted (right-most bit first) into a 5-bit parallel output 

shift register with an initial state of 01111. What is the value contained in the register after 2 clock 

pulses? 

Options: 

1) 01010 

2) 01011 

3) 01001 

4) 10011 

Correct Answer: 10011 

QID : 1149 - What is the number of flip-flops required to produce a divide-by 64 device? 

Options: 

1) 4 

2) 5 

3) 6 
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4) 7 

Correct Answer: 6 

QID : 1150 -  

 

Options: 

1)  

 

2)  

 

3)  

 

4)  

 

Correct Answer:  

QID : 1151 - What is the nature of waves generated by the transmitting antenna in a radio 

communication? 

Options: 

1) Plane 

2) Rectangular 

3) Square 

4) Spherical 

Correct Answer: Spherical 

 

QID : 1152 - What is the directivity (in dB) of a half-wave dipole antenna? 

Options: 

1) 1.76 

2) 2.15 

3) 6.25 

4) 13.46 

Correct Answer: 2.15 
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QID : 1153 - What is NOT a property of an end-fire array? 

Options: 

1) It uses two half-wave dipoles at distance of one half wavelength. 

2) Provide narrower beam-width than broadside array. 

 

3) The gain is less than that of broadside array. 

 

4) It is a stacked collinear antenna. 

Correct Answer: It is a stacked collinear antenna. 

  

QID : 1154 - What is NOT an application of a parabolic antenna? 

Options: 

1) Direct television broadcast. 

2) Used as cellular microwave link. 

3) Wi-Fi link. 

4) Satellite communication. 

Correct Answer: Wi-Fi link. 

  

QID : 1155 - Which among the following components are used in the Yagi antenna? 

Options: 

1) Dipole, one reflector and many directors. 

2) One reflector and one director. 

3) One director. 

4) Two reflectors. 

Correct Answer: Dipole, one reflector and many directors. 

  

QID : 1156 - Which of the following factors affect the propagation level of an EM wave travelling from 

a transmitter to a receiver? 

1. Curvature of earth 

2. Roughness of earth 

3. Magnetic field of earth 

Options: 

1) 1 

2) 2 

3) 3 
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4) 1, 2 and 3 

Correct Answer: 1, 2 and 3 

  

QID : 1157 - Choose which propagation medium can handle VHF and UHF. 

1. Ground wave propagation 

2. Sky wave propagation 

3. Space wave propagation 

Options: 

1) 1 only 

2) 2 only 

3) 3 only 

4) both 1 and 2 

Correct Answer: 3 only 

  

QID : 1158 - Select the correct order of the following atmospheric zones on the basis of the number 

of free electrons residing in them. 

Options: 

1) Troposphere > Stratosphere > Ionosphere 

2) Ionosphere > Stratosphere > Troposphere 

3) Stratosphere > Troposphere > Ionosphere 

4) Stratosphere > Ionosphere > Troposphere 

Correct Answer: Ionosphere > Stratosphere > Troposphere 

 

QID : 1159 - What is the frequency range of low frequency? 

Options: 

1) 30 - 300 Hz 

2) 300 - 3000 Hz 

3) 3 - 30 kHz 

4) 30 - 300 kHz 

Correct Answer: 30 - 300 kHz 

QID : 1160 - Which properties can be varied in modulation for the addition of information to a carrier 

signal? 

1. Amplitude 

2. Frequency 
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3. Phase 

4. Polarization 

Options: 

1) 1 and 2 only 

2) 2 only 

3) 1, 2 and 3 only 

4) 1, 2, 3 and 4 

Correct Answer: 1, 2, 3 and 4 

 

QID : 1161 - Which of the following is NOT a type of analog modulation? 

Options: 

1) PPM 

2) AM 

3) FM 

4) PM 

Correct Answer: PPM 

  

QID : 1162 - What is the total power (in W) of an 80% DSB-SC modulated carrier wave having a 

power of 120 W? 

Options: 

1) 34.4 

2) 38.4 

3) 42.4 

4) 46.4 

Correct Answer: 38.4 

QID : 1163 - An AM wave has the lowest frequency component of 790 Hz, with a 90 Hz wide band. 

What is the carrier frequency of the wave? 

Options: 

1) 700 Hz 

2) 745 Hz 

3) 835 Hz 

4) 925 Hz 

Correct Answer: 835 Hz 

QID : 1164 - The maximum transmission efficiency of an sinusoidal AM signal is ________. 



WWW.ALLEXAMREVIEW.COM                                        WWW.ALLEXAMREVIEW.IN 

54 | P a g e  
 

Options: 

1) 21.68% 

2) 33.33% 

3) 58.88% 

4) 65.55% 

Correct Answer: 33.33% 

QID : 1165 - In which of the following does radio waves propagates? 

Options: 

1) EM waves 

2) Fiber optic cable 

3) Insulators 

4) Water 

Correct Answer: EM waves 

 

QID : 1166 - What is the percentage of power saved in an SSB-SC when the modulated wave is 

transmitted with 80% modulation? 

Options: 

1) 0.8233 

2) 0.8456 

3) 0.8598 

4) 0.8788 

Correct Answer: 0.8788 

QID : 1167 - What is the disadvantage of an SSB-SC over AM modulation? 

Options: 

1) The bandwidth requirement is low in AM. 

2) Thermal noise is low in AM. 

3) Increased power efficiency in AM. 

4) Less complex design of AM. 

Correct Answer: Less complex design of AM. 

 

QID : 1168 - Which among the following is/are the purpose/purposes of pilot signal? 

1. Equalization 

2. Synchronization 

3. Continuity 

4. Attenuation 
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Options: 

1) 1, 2 and 3 

2) 1 and 2 

3) 2 and 3 

4) 2, 3 and 4 

Correct Answer: 1, 2 and 3 

QID : 1169 - A balanced modulator is used in _____. 

Options: 

1) AM 

2) FM 

3) PAM 

4) SSB-SC 

Correct Answer: SSB-SC 

 

QID : 1170 - What is the antenna current of a 60% modulated SSB-SC wave having a carrier wave 

power of 80 W and impedance of the system as 20 ohms? 

Options: 

1) 0.2 A 

2) 0.4 A 

3) 0.6 A 

4) 0.8 A 

Correct Answer: 0.6 A 

QID : 1171 - Which amongthe following are methods of SSB-SC generation? 

1. Phase discrimination 

2. Frequency discrimination 

3. Product modulator 

Options: 

1) 1 only 

2) 2 only 

3) 3 only 

4) 1 and 2 only 

Correct Answer: 1 and 2 only 

 

QID : 1172 - Which amongthe following is TRUE with respect to de-emphasis? 

1. De-emphasis is a complement of pre-emphasis. 

2. It decreases the magnitude of higher frequencies with respect to the magnitude of other lower 
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frequencies. 

3. It is used in FM broadcasting. 

4. It improves the SNR. 

Options: 

1) 1 and 2 

2) 1, 2 and 3 

3) 1, 2 and 4 

4) 2, 3 and 4 

Correct Answer: 1, 2 and 4 

 

QID : 1173 - The bandwidth of an FM wave, when the maximum deviation allowed is 50 kHz and the 

modulating signal has a frequency of 10 kHz, is _________. 

Options: 

1) 40 kHz 

2) 50 kHz 

3) 60 kHz 

4) 120 kHz 

Correct Answer: 120 kHz 

QID : 1174 - In which of the following, the phase modulation of side bands occurs? 

Options: 

1) DSB-SC 

2) ISB 

3) SSB-WC 

4) SSB-SC 

Correct Answer: ISB 

 

QID : 1175 - Which among the following AM signals are used in television broadcasting? 

Options: 

1) DSB-WC 

2) DSB-SC 

3) SSB-SC 

4) VSB 

Correct Answer: VSB 

 

QID : 1176 - Which factor of carrier wave is affected by noise? 
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Options: 

1) Amplitude 

2) Amplitude and phase both 

3) Position 

4) Phase 

Correct Answer: Amplitude and phase both 

 

QID : 1177 - The phase modulation and frequency modulation are considered as a special case of 

______. 

Options: 

1) PPM 

2) PSK 

3) QAM 

4) SSB 

Correct Answer: QAM 

QID : 1178 - The bandwidth of AM is _______. 

Options: 

1) 455 kHz 

2) 540 kHz 

3) 600 kHz 

4) 1110 kHz 

Correct Answer: 1110 kHz 

 

QID : 1179 - The bandwidth of FM is ________. 

Options: 

1) 20 Hz 

2) 20 kHz 

3) 20 MHz 

4) 1110 kHz 

Correct Answer: 20 MHz 

 

QID : 1180 - In TV broadcasting, video signals are transmitted in ______ and audio signals in ____. 

Options: 

1) AM, FM 

2) FM, AM 

3) PM, AM 
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4) PM, FM 

Correct Answer: AM, FM 

 

QID : 1181 - In the phase modulated signal, the deviation of frequency is ______. 

Options: 

1) constant. 

2) proportional to amplitude. 

3) proportional to frequency. 

4) square of amplitude. 

Correct Answer: proportional to amplitude. 

 

QID : 1182 - When simple AGC is used in radio receivers_________. 

Options: 

1) voltage produced between stations is highest 

2) more accurate output is obtained by increasing the time constant of AGC 

3) audio stage is controlled by AGC 

4) the AGC increases with signal strength 

Correct Answer: the AGC increases with signal strength 

  

QID : 1183 - The quantization level is a function of _________ in PCM encoding. 

Options: 

1) amplitude 

2) frequency 

3) cube of amplitude 

4) cube of frequency 

Correct Answer: amplitude 

 

QID : 1184 - Which among the following is a digital system by nature? 

Options: 

1) PAM 

2) PCM 

3) PPM 

4) PWM 

Correct Answer: PCM 

  

QID : 1185 - What is the process of converting an analog signal to discrete form called? 
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Options: 

1) Modulation

2) Multiplexing

3) Encoding

4) Quantization

Correct Answer: Quantization 

QID : 1186 - Bit depth is ______. 

Options: 

1) the number of quantization level.

2) the interval between two quantization levels.

3) the number of possible digital values to represent each sample.

4) the amplitude to the continuous wave.

Correct Answer: the number of possible digital values to represent each sample. 

QID : 1187 - How many samples does a Delta modulation use? 

Options: 

1) 1

2) 2

3) 3

4) 4

Correct Answer: 1 

QID : 1188 - What is the frame rate of a TDM when the transmission rate is 32 kbps and each slot 

has 16 bits? 

Options: 

1) 1000 fps

2) 2000 fps

3) 3000 fps

4) 4000 fps

Correct Answer: 2000 fps 

QID : 1189 - The bandwidth of signals to be transmitted is less than the useful bandwidth of the 

medium. What should be used to increase the efficiency of the bandwidth? 

Options: 

1) Code division multiplexing

2) Frequency modulation

3) Frequency division multiplexing
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4) Time division multiplexing

Correct Answer: Frequency division multiplexing 

QID : 1190 - An 8 to 1 mux has _______ selection lines. 

Options: 

1) 0

2) 1

3) 2

4) 3

Correct Answer: 3 

QID : 1191 - The bandwidth required by the ASK modulated signal is ________. 

Options: 

1) double of the bandwidth of baseband signal.

2) half of the bandwidth of baseband signal.

3) quarter of the bandwidth of baseband signal.

4) same as the bandwidth of baseband signal.

Correct Answer: same as the bandwidth of baseband signal. 

QID : 1192 - Which among  the following is also called ON-OFF keying? 

Options: 

1) ASK

2) FSK

3) PSK

4) QPSK

Correct Answer: ASK 

QID : 1193 - Which of the following can be used as a transmitter for an optical fiber? 

Options: 

1) Photo-diode

2) Bulb

3) Laser

4) Sun

Correct Answer: Laser 

QID : 1194 - To reduce the attenuation in a fiber optic cable due to cable bend, we can _________. 
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Options: 

1) add new bends.

2) add a new cable in parallel.

3) use repeaters.

4) increase the bend radius.

Correct Answer: increase the bend radius. 

QID : 1195 - What is the critical angle of incidence (in degrees) of a fiber optic cable when the 

refractive index of core and cladding are 3.2 and 1.6 respectively? 

Options: 

1) 15

2) 30

3) 45

4) 60

Correct Answer: 30 

QID : 1196 - Which among the following is NOT an advantage of an optical fiber? 

Options: 

1) Easy splicing and cable laying

2) High bandwidth

3) Low attenuation

4) Immunity to lightning

Correct Answer: Easy splicing and cable laying 

QID : 1197 - What is the frequency range of super high frequency? 

Options: 

1) 3 MHz - 30 MHz

2) 30 MHz - 300 MHz

3) 300 MHz - 3000 MHz

4) 3 GHz - 30 GHz

Correct Answer: 3 GHz - 30 GHz 

QID : 1198 - What is the wavelength of HF? 

Options: 

1) 100 m - 10 m

2) 10 m - 1 m
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3) 1000 mm - 100 mm

4) 100 mm - 10 mm

Correct Answer: 100 m - 10 m 

QID : 1199 - What is the frequency range of a microwave? 

Options: 

1) 3 kHz - 300 GHz

2) 300 MHz - 300 GHz

3) 300 MHz - 3000 MHz

4) 3 kHz - 30 kHz

Correct Answer: 300 MHz - 300 GHz 

QID : 1200 - Susceptance is a measure of ability to pass ________. 

Options: 

1) voltage

2) current

3) voltage and current

4) None of these

Correct Answer: current 


